1.4 Logaritamske jednacine

1. Resiti logaritamske jednacine:

(a) logs(2z + 3) = 2, (b) log,(3z +4) = 3,
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() gyt =1, (@) log, (v 5) =0,
(e) logz +log(x + 3) = log(z + 8), (f) log(b—=xz)+2logv3—xz=1,

1 1

(9) logg(b—z)— 3 logs(35 — 2°) = 0, (h) logg(z® 4+ 19) — logg(x — 8) = 3
(i) 2+logvV1+z+3logyl—2=logvV1l—a2 (j) log,,a”-log,,z* =108,
(k) loggx -loggx -logy, x - logg © = 3 () log*x —3logz +2=0,
(m) logi,x — 5log,,x + 6 =0, (n) logyz+2log,2—3=0,
(0) logsx —6logsx =1, (p) logyx+4log,8=T.

g 20, uslov z > —3 (¢c) v = 4, uslov

1. (a) # = 3, uslov x > —35, (b)) z = 35
> (—00,—6) U (—=1,400), (d) z =3 usloviz >2iz #3 (e =2, uslov
x>0 (f)z=4—-VI1, ulovae <3, (g o=2iz =3, uslovae < /35,
(h) nema resenja, uslov z > 8, (i) z = 5 uslovz € (—=1,1), (j)z=10"iz=10"%,
uslov x > 0, (k)szixz%,uslovx>0, () x = 10 i x = 100, uslov = > 0,
(m) z=102iz=10% uslove >0, (n)z=2iz=4, uslover >0iz#1, (0)zx=41i

xz?,uslovx>0, (p)x=161x =8, uslove >0ix#1.



